
Parts List

S Y S T E M S

1820 Walters Court • Fairfield • California • 94533 USA • TEL (707) 429-2434 • FAX (707) 429-2424 • E-MAIL info@paulisystems.com
PolyAirCable 20020808

PolyAirCable™ Control 
Line and Fittings

Old # New # Description
- 530-000 401-082-01 PolyAirCable™ Bulk
- 530-502 280-040-12 50’ PolyAirCable™ with Swivel Female

Fittings and Double Male Nipple Coupling
- 530-552 280-042-14 55’ PolyAirCable™ with Female Fittings

1 956-001 230-200-02 1/8” Swivel Nut and Barb Fitting (for 
Gray Line)

2 956-002 230-200-03 1/4” Swivel Nut and Barb Fitting (for Yellow 
Line) 

3 956-003 230-202-15 Ferrule for Swivel Nut (1/8” and 1/4”)
4 956-020 230-252-01 Field Repair Clamp - Two Ear 

(Use in place of 230-202-15)
- 956-021 230-252-02 Field Repair Clamp Tool
- 956-022 230-252-03 Hose Mender - Double Male Barbs

5 964-001 230-132-35 1/8” Double Male Nipple (to Connect 
Multiple Lengths of PolyAirCable™ Gray Line) 

6 964-002 230-132-36 1/4” Double Male Nipple (to Connect 
Multiple Lengths of PolyAirCable™ Yellow Line) 

- 956-095 360-030-16 PolyAirCable™ Repair Kit 
PolyAirCable™ Repair Kit Includes:

956-001 230-200-02 1/8” Swivel Nut and Barb Fitting (6 each)
956-002 230-200-03 1/4” Swivel Nut and Barb Fitting (6 each)
956-020 230-252-01 Field Repair Clamp - Two Ear (24 each)
956-021 230-252-02 Field Repair Clamp Tool (1 each)
956-022 230-252-03 Hose Mender - Double Male Barbs (6 each)
964-001 230-132-35 1/8” Double Male Nipple (6 each)
964-002 230-132-36 1/4” Double Male Nipple (6 each)

PSI PolyAirCable™ is color identi-
fied. One line is yellow, the other is
gray. The yellow is always used as
the air supply to the FeatherTouch™
deadman control. Upon the
Operator’s command, the full capac-
ity of the yellow line is directed
through the gray line to operate the
remote control valves. To guarantee
correct installation, 1/4” fittings are
used on the yellow line, 1/8” on the
gray line.

WARNING
• READ ALL WARNINGS PRIOR TO EVERY USE.
• NEVER USE ANY PAULI SYSTEMS SUPPLIED PARTS OR EQUIPMENT WITH SAND ABRASIVE.
• INSPECT ALL EQUIPMENT PRIOR TO USAGE.
• NEVER USE DAMAGED OR IMPROPERLY FUNCTIONING EQUIPMENT.  DOING SO MAY BE HAZARDOUS TO YOUR

SAFETY AND THE SAFETY OF THOSE AROUND YOU.


